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1       a)      Name the three labelled parts in the flower shown in Figure 1.                                                      (3 marks)

Figure 1

b)      Explain how the design of each organ helps it perform effectively in the 
reproduction process.                                                                                                                                (3 marks)
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3 See next page

2       Explain three key aspects of the dark phase of photosynthesis.                                                             (3 marks)

3       a)      Describe three main characteristics of a clay soil.                                                                             (3 marks)

b)      Explain how these characteristics may affect plant growth and development.                          (3 marks)
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4       Explain the stages of dealing with a hung-up tree.                                                                                       (6 marks)

5       Explain two effects of a poorly sharpened saw on cutting performance.                                             (2 marks)

6       Name three methods for dealing with brash on a felling site.                                                                  (3 marks)
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5 See next page

7       State two advantages of using the tool in Figure 2.                                                                                     (2 marks)

Figure 2

8       a)      State three signs of ill health in trees.                                                                                                    (3 marks)

b)      Explain three factors that predispose a tree to ill health.                                                                 (3 marks)
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9       a)      Briefly describe the function of a resistograph in decay detection.                                               (2 marks)

b)      Summarise two benefits and two limitations of a resistograph.                                                   (4 marks)

10     State two pieces of legislation relevant to the practices and products used for 
controlling pests and diseases.                                                                                                                         (2 marks)
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7 See next page

11     You have noticed a semi-mature elm tree yellowing in mid-summer.
a)      Describe what has caused the yellowing and explain how it will affect the 

physiological processes of the tree.                                                                                                       (3 marks)

b)      Explain how the problem is spread and what control measures might be effective.                 (3 marks)
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12     Figure 3 is a PiCUS image from a mature beech tree in a well-used urban woodland.

Figure 3

         Discuss the biological and structural implications for the tree and the factors to be 
considered when managing it.                                                                                                                        (12 marks)
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9 End of examination

Question 12 continued


